	Chapter 4 – Imperfect competition 



Section A
Learning objectives
After studying this chapter you should be able to:

· discuss the social costs of a monopoly and indicate its relevance for ‘deregulation’

· outline the characteristic features of a natural monopoly

· discuss the case for and against regulating a natural monopoly

· explain the meaning of the ‘structure-conduct-performance’ (SCP) hypothesis and discuss its relevance for competition policy in South Africa

· explain Demsetz’s ‘efficiency hypothesis’ and discuss its relevance for competition policy generally.

Chapter outline
The widespread existence of monopolies and oligopolies represents perhaps the best-known example of market or institutional failure in a modern economy. It is customary to distinguish between two types of monopoly: firstly, an ‘artificial’ or statutory monopoly operating in a market where perfect competition is technically feasible and, secondly, the case of a ‘natural’ monopoly. The former refers to a situation in which potential competitors are prevented from entering the market in question, either due to certain legal restrictions imposed by the government or a professional body, or due to efforts on the part of the incumbent firm itself to limit entry, for example by exerting control over critical suppliers or by temporarily setting price below its profit-maximising level (Harrod, 1952).
Since the latter practices are difficult to detect or control in practice, we shall confine ourselves in Section 4.1 to the case of an artificial barrier that limits productive activity within an otherwise competitive market. Section 4.2 deals with the decreasing cost case and considers the question of whether a natural monopoly should be regulated or owned and controlled by the state. Section 4.3 discusses other forms of imperfect competition, while Section 4.4 looks at the conduct of competition policy in South Africa. Finally, Section 4.5 considers some of the modern views on monopoly, including the so-called ‘efficiency hypothesis' introduced to the literature by Harold Demsetz (1973).

Answers to self-assessment exercises 
4.1
Illustrate the effect on general equilibrium of introducing a monopoly into the two-sector model. What are the efficiency implications?

Answer (brief guidelines)
· The monopoly produces a smaller quantity at a higher unit price than the perfectly competitive market:
· Illustrate with the aid of Fig 4.1 and explain the diagram.
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· The two-sector competitive model operates on the principle that the marginal rate of product transformation equals the marginal cost ratio of the two products
· Use Equation 4.1
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· If one producer is now a monopolist it means that the monopolist’s price is higher than marginal cost while the other product price = marginal cost
· The principle that the MRPT = MC ratio is thus violated.

· From an efficiency point of view such violation means that the third condition for Pareto efficiency is not reached.

· State this condition; namely that producers and consumers achieve equilibrium simultaneously, but now only consumers reach equilibrium and not producers.

4.2
Should natural monopolies be regulated?

Answer (brief guidelines):

·  Deregulating a monopoly, in general, so that greater competition can prevail, can result in:
· Better allocative efficiency

· Better X- efficiency.

· Does this also apply to the natural monopoly in particular? Consider that:
· Minimum average cost occurs at a level of output = the whole market
· Profit maximising output occurs where MC = MR and points to a much smaller  output being sold at a price well above the socially efficient price determined by the intersection of MC and Demand curves and coinciding with the minimum AC.

· Government intervention is thus required for those cases where the natural monopoly incurs positive externalities on other industries.

· Government can take over the natural monopoly and apply marginal cost pricing
· Marginal cost pricing would require subsidising the difference between average cost at its lowest point and the price determined by the intersection of demand and supply. 
· The funding of such subsidies from taxation brings about distortions where these taxes have their incidence because of their excess burden.

4.3 Critically discuss the case for and against privatising natural monopolies.

Answer (brief guidelines):

·  Privatising natural monopolies hold the advantages of:
· Greater X-efficiency because it has no fall-back position on government resources
· Proceeds becoming available for reducing the national debt or for investment in physical infrastructure.

· Privatised natural monopolies may lead to smaller outputs at higher prices. Therefore, privatised natural monopolies are often regulated by:
· Capping prices or profits
· Employment guarantee schemes to prevent job losses

· Institutional arrangements to prevent negative distributive effects, like the already rich becoming the owners of the privatised monopoly.
· Profit capping is less successful because of cost padding.

· Price capping leads to greater efficiency to keep costs down and improve profits.

· Profits and prices can both be capped when profits exceed a pre-determined level prices are adjusted downwards.

· Greater X-efficiency from privatisation can result in outward shift of the PPC  - economic growth, but somewhat dampened by the cost of administering price capping.

4.4
Discuss the basic objectives and nature of competition policies with specific reference to the ‘structure-conduct-performance’ hypothesis.

Answer (brief guidelines):

·  Real world situations are more often cases of monopolistic competition or oligopolies than of monopolies or perfect competition.
· The effect on output and on prices thus falls somewhere between the perfectly competitive and the monopoly case.
· This “middle ground” is determined by the structure-conduct-performance hypothesis

· Structure determines

· Conduct which determines

· Performance, therefore:
· Highly concentrated structure encourages collusive behaviour which steers prices towards the monopoly.
· Competition policy is required to regulate the ability of a concentrated industry to result in monopoly pricing.
· Not all concentrated industries will result in monopoly practices. Therefore

· Competition policy is aimed at breaking up the kind of conduct where dominance in a structure is abused to achieve monopoly outcomes.

· Objectives of competition policy are thus:

· Lower prices

· Expanded choices

· Technological progress

· Capital investment

· Redistribute income through lower prices

· Remove restrictive barriers to entry

· Improve opportunities for SMMEs.

4.5
Outline the new competition policy in South Africa.

Answer (brief guidelines):

· Government view on dominance in South African markets.
· Mergers leading to monopoly pricing.
· Prevent abuse of dominant position in the form of:
· Price fixing

· Production quotas

· Exclusivity agreements

· Collusive tendering.
4.6
Discuss Harold Demsetz’s ‘efficiency hypothesis’ and consider its implications for the conduct of competition policy.
Answer (brief guidelines):
· Demsetz reverses structure-conduct-performance:
· Performance by being the low-cost producer is the result of conduct of an industry in which competition prevails and in which the low-cost survivors form structure of the industry and therefore deliver at prices lower than what they would have been with more but less efficient firms.
· Competition policy should thus not identify concentrated structures as necessarily non-competitive. 
· Rather, consider whether such concentrated industries erect barriers 
to entry. 

· With no barriers to entry, concentration is not necessarily bad.
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